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Abstract

The present paper contributes to the theoretical analysis of the human capital
investment and participation decision of heterogeneous workers in the search and
matching framework. Its aim is to characterize the equilibrium and to identify the
efficiency. Here, the paper studies search equilibrium and matching to consider the
participation decision of heterogeneous workers who have different inherent ability
levels. The productivity investment decision is endogenous and wages are determined
by the Nash bargain among participants.
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1. Introduction

In this paper, | construct a theoretical model that focuses on the role of
productivity investment incentives in the standard search and matching
model. The model follows directly from insights presented by Lockwood
(1986) and is an extension of the basic matching model developed by
Pissarides (1990) where individuals need to invest in their productivity before
participating in the labor market.

Many economists view the skills of the labor force as a prime contributor
to economic performance. Therefore, not surprisingly policy makers are often
interested in issues of worker training. For instance, training of less skilled
workers was one of the principle policy initiatives of the first Clinton
administration and the labor government in Britain has similarly made training
a key policy issue.

Some OECD countries have experienced increased returns in skills
investment over the last years. Many policy makers believe that low educated
workers can also benefit from the changes in the demand for skills if they
invest more in their education. Rosenstein-Rodan (1943), not only pointed out
the importance of market demand, but also of skills, and noted that training of
workers was a prerequisite for industrialization, though unlikely to happen.

While it is important to understand the optimization problem of human
capital investment of an agent, it is necessary to pay attention to its subsequent
interaction with labor market. Beside considering heterogeneity of workers
and human capital investment and the cost related to this investment, we must
also analyze how the resulting change in the supply of heterogeneous workers
affects the labor market equilibrium. The interdependence becomes more
complicated when we recognize there is friction in the labor market. We live
in a world where information is imperfect and costly. Individual decision-
making at entry (or exit) point of the market, the choice of lowest acceptable
productivity and the choice of search intensity margins may be socially
inefficient. What is common in all these margins, as Pissarides (1983) makes
clear, is that they are all due external factors that work through the matching
technology. When individuals choose to enter a market, accept a match or
search more intensively they ignore the impact of their decisions on the
matching probabilities of other agents in the market. Lockwood (1986)
assumes heterogeneous workers in their inherent skills to show the other
external effect that work through match acceptance probabilities rather than
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matching probabilities. In particular, he shows that the presence of high-skill
workers lowers the equilibrium acceptance probabilities of low skill workers
below what is socially desirable.

An aggregate increase in return to education is a standard property of
matching models . With human capital investment, a more productive
workforce raises the labor demand. However a tighter labor market increases
the incentives to schooling. This mechanism can give rise to multiple
equilibria [see e.g. Laing et al.,1995; Burdett and Smith (2002)]. They argue
that if workers' decision to invest in education and firms' job creation decisions
interact positively, then the economy can get stuck in a bad equilibrium. As a
result the human capital investment will be insufficient and also
unemployment will be high. On the other hand Acemoglu (1996), argue that
frictional unemployment can create a hold up problem whereby workers are
generally paid a share less than their marginal productivity . Charlot et
al.(2005) show that equilibrium is unique in their framework since the
productivity effect of schooling dominates the wage effect. Clearly the
presence of matching unemployment is a common explanation of weakness
of incentives for education investment.

Since Becker (1964) , provided the labor market is perfectly
competitive, the market outcome is socially optimal. However, in the presence
of unemployment, models analyzing matching models with ex post Nash
bargaining and ex ante costly human capital investment Laing et al. (1995)
and Acemoglu (1996), workers under-invest in education which is the result
of hold up phenomenon. Clearly search frictions play an important role in
that. Though Cole et al.(2001) show that there can also be over investment in
the frictionless environment with two sided investment.

My argument is based on workers' heterogeneity and self-selection in
education. The introduction of heterogeneity makes the model more realistic
and in addition allows one to gain insights into the worker behavior that do
not follow from models of homogeneous labor market. When workers differ
according to the ability level and the cost of productivity level that he or she
is going to attain, the worker must decide to invest in his/her productivity
and then participate in the labor market . This is an integral part of
participation decision.

It is well established in the literature that a core topic in labor economics
is “self-selection’. The starting point of this topic in economics is Roy's (1951)
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“Thoughts on the Distribution of Earnings” . Self-selection means in
theory , that rational individuals make optimizing decisions about what
markets to participate in- job, education, crime, etc. In the present paper
heterogeneity of the labor force in their abilities and education cost give rise
to self-selection. Where the cost of productivity investment is not constant and
it depends on ability of the worker and also the amount of investment
on productivity.

Alternative specifications of the matching process have been considered
in the literature: search may be undirected (see, e.g. Acemoglu, 1999; Albercht
and Vroman, 2002) or skilled workers may poach on unskilled jobs
(see, e.g. Gautier, 2002). Charlot and Decreuse (2005), consider two separate
matching sectors where educated workers direct their search towards high
productivity occupations. Adopting those different specifications would, of
course, alter our results.

My argument also is related to intra/infra marginal decision. And
individual decisions are characterized into two classes: intramarginal decision
of resource allocation and inframarginal decision of economic
organization. Intramarginal decisions involve the extent to which resources
are allocated and inframarginal decisions are about what activities to
engage . Considering the two types of decisions, the paper analyses a
theoretical model that focuses on equilibrium incentives for productivity
investment in matching framework with one-sided heterogeneity. There are
two risk neutral groups: workers and employers. There are two types of
workers; low ability and high ability workers while employers are
identical. Distribution of abilities is exogenous.

This paper argues human capital investment decision' of heterogeneous
workers in equilibrium search framework. The technology that | assume is
such that workers invest on their education to achieve productivity and then
search for a job. Of course education is costly, those who invest in education
and search for job are participant in the labor market. In this paper, the choice
of investment in human capital is intramarginal decision since it involves
deciding the quantity of resources devoted to acquire human capital. Once
he/she has chosen his investment decision in human capital, he then searches
for the job.

The standard search model features exogenous labor supply-i.e., a fixed
size of the labor force . Rather than consider flows between search

1. It is an investment in human capital that pays off in terms of higher productivity.
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unemployment and employment of a fixed labor force, | examine the
participation decisions of worker . If labor force participation is fully
endogenous, just as is labor demand in the form of vacancy creation, then
another condition which I name it labor force participation constraint impinges
the basic framework equations . Therefore, workers reach different
participation decisions on the basis of comparison between labor market and
non-market returns. Here | consider a labor force participation decision, a
margin which is absent in most of models of labor market. This paper exploits
the basic insights of above models; i.e., self-selection at the individual level
alters the equilibrium composition of groups. My contribution to this literature
is then to highlight the equilibrium characteristics of heterogeneous workers
with endogenous productivity investment and free entry of firms which drives
job creation.

The paper uses a matching process in the spirit of Pissarides (1990) with
a Nash bargaining approach to wage-setting. Given overall labor market
condition , equilibrium is determined by free entry condition, optimal
productivity investment decision, the participation constraint plus the steady
state conditions. Equilibrium can take one of the following forms. The first
type of equilibrium is one in which it is beneficial for both types of workers
to be active in the labor market. In the second type of equilibrium, there is
only the willingness of high ability workers to invest in their productivities
and search for job. Third, for small changes in the economic environment
multiple equilibria can exist. Finally | show that heterogeneity is not the cause
of multiplicity in this model.

The paperturns in the next section to the presentation of the model. This
is followed, in Section 3, by an analysis of the decentralized and multiple
equilibrium. In section 4, I discuss the social planner problem then I focus on
the three different policies that can be implemented by the planner that may
achieve an efficient allocation. Finally, in section 5, | summarize my results
and conclude.

2. The Model

2.1. The basic framework

The model is an extension of the Lockwood (1986), Pissarides (2000)
matching framework . The economy is composed of two risk-neutral
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groups : workers and firms. All firms are identical whose number is
endogenously determined by a standard free entry condition but workers differ
in their abilities. This heterogeneity in ability implies different workers invest
in different productivity levels. Time is continuous and throughout | only
consider steady state . The economy is composed of workers and
employers. All employers are identical whose number is endogenously
determined by a standard free entry condition. There is turnover of workers
where ¢ is the inflow of new entrants and all workers die according to a
Poisson process with parameter ¢p. Thus steady state implies there is a unit
measure of workers in the economy.

There are two types of entrants: those with low-ability (a;) and those with
high-ability (a;). Leti € [, h denote a worker's type where a; > a; >
0. Assuming fraction n; of entrants are type i, the distribution of ability across
entrants, denoted G (a), is

G@ =0 fora < a
G(@) =mn, fora<a<ay
G@=1 fora = aj

Given their ability a;, each entrant type i first invests in education which
determines his/her productivity level x . Let C(x;a’) denote the cost of
investing to productivity x given initial ability a; . Assume C(.) is strictly
increasing, convex and twice differentiable in x. Also C(a;;a;) =0, C(.) is
decreasing in a (it is less costly for a higher ability to achieve a given
productivity level) and C,, < 0 so that higher ability types face a lower
marginal cost to achieving a higher productivity level x. For ease of
exposition assume the Inada condition C,(a;, a;) = 0.

The model has a standard hold-up structure: given beliefs on market
wages, an individual who is born with ability a first selects a productivity
level x. The cost of obtaining that productivity level depends on ability a.
After investing in her productivity, she then enter the labor market and search
for a job. If she does so and contacts a firm, her wage is then determined by
Nash bargaining. Of course expectations are rational: the negotiated wage is
consistent with her original beliefs. As firms are identical, w = w*(x) will
denote the equilibrium negotiated wage.

After investing in productivity x, a type i entrant decides whether to
search or not with effort e € {0,1}. | define those who choose search e = 1 as
active job seekers, all others are inactive (non-participant). Clearly as
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education is costly, those who choose to be inactive will also choose zero
education. Conversely the Inada condition ensures those who are active
choose a strictly positive education level. In steady state, let 1 — m denote the
proportion of active agents who are high ability (7 will be endogenously
determined and depending on the investment choice of workers).

E; denotes the number of employed workers with ability a;. To fill a
job, an employer must first create a vacancy at flow cost k. If V denotes the
number of vacancies and U = U + U the number of active unemployed job
seekers , then the match flow is described by a matching function
M = M(U,V) which is increasing in both arguments and has constant

returns. Let 8 = g denote market tightness. As active job seekers meet

vacancies at rate % standard arguments imply this job contact rate is

m(8) = M(1,0) and m(.) is an increasing concave function. Similarly @

is the rate at which a firm holding a vacancy contacts an active job seeker.

Random search implies (1 — n)@ is the rate at which a firm contacts an
active job seeker with high ability.

When a firm holding a vacancy and an active job seeker meet, the worker's
productivity x is observed and they bargain over the wage. Wages are
determined by Nash bargaining. Job matches break up at an exogenous rate §
in which case the worker returns to the pool of unemployed workers and, with
free entry, the firm makes no further profit.

2.2. Worker's payoffs and job search strategies

Before describing optimal productivity choice, | first describe the expected
lifetime value of being unemployed with productivity x in a market with
tightness 8, which | denote V;(x,8). Below Nash bargaining will yield a
negotiated wage outcome which | denote w = w" (x, 8). Standard turnover
arguments imply the value of being an active worker with productivity x
satisfies

(r+ d)Vy(x,0) =b+m(0)[Vg(x,0) — Vy(x,6)] (2.1)

where Vi (x, 8) describesthe value of being employed with productivity x and
tightness 8 is given by
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(r+ ¢)Vg(x,0) = wV(x,0) + 5[Vy(x,0) — Vg (x,0)], (2.2)

an active job seeker enjoys flow payoff b and finds employment at rate m(8)
with associated gain Vg(x,0) —Vy(x,0). While employed, the worker
negotiates wage w = w (x, ) as determined below. At rate § the job is
exogenously destroyed and the worker returns to the pool of unemployed
workers. Substituting out V(. ), these equations imply:

(r+ ¢ + &b+ m(®)w(x,0)
r+¢)(r+¢ +m(6) +95)
Clearly, the worker with productivity x will only enter the labor market if

and only if Vi (x, 8) = Vy(x, 6). As education is costly, those who choose not
to enter the labor market, the non-participants, will choose x = 0.

Vy(x,0) = (2.3)

2.3. Productivity investment decision

In this section the equilibrium market outcome is taken as given. Specifically
as each worker is small, he/she takes the market tightness parameter 6 as
given. Also he/she anticipates the equilibrium wage that is negotiated by a
worker of productivity x Below this is denoted w = w¥(x, 8). Thus given
innate ability a;, market tightness 8 and wage function w¥ (x, ), the worker
first chooses the optimal level of productivity x to maximise the expected
value of lifetime utility. To solve this problem, | let V;(x, 8) denote the
expected discounted value of lifetime utility for an unemployed active worker
with productivity x. Optimal productivity of type i worker, denoted x; =
x*(a;, 8 ) conditional on being active is then given by;

x*(a;,0) = argmax{Vy (x,0) = C(x; )] (2.4

The RHS is the sum of value of being active unemployed minus the direct
cost of investment in the productivity. The Inada condition ensures the
necessary condition for optimal x; is given by;

WVy(x;,0) 0C(x;;a;)

2.5
0x 0x (29)
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Of course this condition describes the optimal investment choice for
active workers - those who will choose to enter the labor market and search
for employment. Not all workers, however, will choose to be active. In
equilibrium, there is a critical ability a® where those with ability a; < a® will
choose not to be active. Specifically by staying out of the labor market, each
worker can always generate payoff b/(r + ¢). Thus only workers whose
participation in the labor market exceeds b/(r + ¢) will be active labour
market members.

Definition of a(8):

Vy(x*,8) — C(x*,a) = % (Active; Constraint) (2.6)
where x* = x*(a‘ 0) is the optimal productivity choice of an active
participant with ability a = a¢. Note that a depends on market tightness 8
- below we shall show that a¢ is decreasing in 8; i.e., higher market tightness
leads to more (low ability) workers choosing to become active. Claim 1 now
establishes that a worker of type i is active in the labour market if and only if
ability a; > a®(9).

Claim 1: For any 6:

(i) Individuals with a; = a“(@) are active, and choose x = x*(a;, 8)

(if) Individuals with a; < a®(0) are inactive, choose x = a; at zero cost and
enjoy %.

Proof:

As an active worker of ability a solves the program

gl)e;lx[Vu(x, 0) — C(x;a)l,

the Envelope theorem implies this payoff is strictly increasing in a As worker
a = a‘ is indifferent to participating, then all those with a; > a® strictly
prefer to participate (and invest to x*(a;, 8) while all those with a; < a“(6)
strictly prefer not to participate (and so choose x = a;). Having described the
optimal investment decision of workers, the next step is to compute the value
of being unemployed in a market equilibrium with tightness 6.
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2.4. Steady state turnover

In order to solve the free entry condition for equilibrium market tightness, we
first describe steady state turnover. Suppose type i have ability a; > a®(8)
and so are active labour market participants. Recall that E; was defined as the
number of type i workers who are employed and U; the number who are
(active) unemployed. Steady state implies

(m(0) + $)U; = S8E; + ¢n; (2.7)

where the LHS describes the flow of i type workers out of unemployment,
while the inflow is composed of employed workers who lose their jobs and
those new market entrants who are type i As E; + U; = n; this implies the
number of active type i unemployed worker is

Similarly for the pool of employed workers: Note then that if both

a;, ap > a‘(0), then the fraction of (active) unemployed workers who are
type i is:

U; _

U +U,

ni

As 1 denotes the fraction of active unemployed workers who are low
ability, then m =5, in this case. Conversely a; > a‘(8) > a; implies low
ability types are not active in the labour market. As U; = 0, this implies
7 = 0: all active unemployed workers are high ability. This sorting effect
plays an important part in what follows.

2.5. Wage determination

The paper now determines the equilibrium wage function w" (x, 8). Again(]
consider type i with ability a; > a®(6) and so are active labor market
participants. Suppose such a worker invests to productivity x and so enjoys
value Vy; (x, 0). Let J(x, 8) denote the firm's value of employing a worker
with productivity x and J,(6) denote the value of a vacancy . Given
B € (0,1) describes the worker's bargaining power, Nash bargaining implies
the negotiated wage satisfies

BUr(x,0) = Jy(0)] = (1 = B)[Vi(x,6) — Vy(x,0)].
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Of course a free entry equilibrium implies J,,(6) = 0 while

x —wV(x,0)

Jr(x,0) = r+8+¢

(2.9)

as the job is closed only in the event that the worker dies or the job is
destroyed . By also substituting out Vy(x,8) —Vy(x,6) using the
above, equilibrium Nash wage agreement is:

Br+¢p+m@)+)x+A-BTr+d+5)b
Bm@)+r+¢+95)

wh (x,8) = (2.10)

The wage is thus a weighted of the worker's productivity x and the worker's
flow value of unemployment b, where the weight depend on 6 and the
worker's bargaining power . A rise in the productivity of the worker makes
the size of the surplus to be shared between a firm and a worker with
productivity x, bigger which causes the rise in the Nash bargaining wage.

2.6. The value of a vacancy

Market tightness determines which types of workers are active in the labor
market as a® = a“(@) . Recall that = denotes the fraction of active
unemployed workers who are type i = [ and that for types a; > a“(6), their
optimal productivity choice is x*(a;,0). In a free entry equilibrium with
random search, the expected value of a vacancy is:

0
() =~k + " [ (v 0, 0),6) + 1

— ) (Jr(x"(ay, 6), 0)]
where k is the flow cost of the vacancy. AsJ, = 0| obtain the free entry
condition:
_m(8)
)

Equation (12) denote the free entry equilibrium condition which is one key
equation of the equilibrium model.

(2.11)

k

[]r (x"(a,,0),0) + (1 — 1) (Jp(x"(an 6), 6)] (2.12)
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2.7. The reduced form free entry condition

The following two claims help us to identify a solution to the free entry
condition (2.12).

Proposition 1: a¢(8) is continuous and strictly decreasing in 6

Proof. The above has established that for any active worker:

r+¢ +8)b+m@w"(x,06)

VU(x:Q) = (‘r‘+¢)(‘r‘+¢+m(9)+5)
with
wh (x, 0) :ﬁ(r+¢ +m(0)+8)x+ 1 -B)r+¢+6)b

pm@)+r+¢+46

Clearly Vy is linearly increasing in x. Some algebra also establishes that
Vy is increasing and continuously differentiable with & Now a€ is defined by

Vy(x*,8) — C(x*,a) = % (Active Constraint) (2.13)
with x* = x*(a¥, ) given by
Vy(x",0)  9C(x";a)

0x ox

Totally differentiating equation (13) w.r.t 8 and using (14) implies:

(2.14)

dac aVU
a- _ _a6
d9_£<0

dac

as required.
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Figure 1: Critical Ability and Market Tightness

On 0 0

Claim 2: The Nash wage w" (x, 8) is continuous and strictly increasing in 8

Proof: Trivial by differentiating the above solution for w¥ (.) w.r.t & We now
identify a solution to the free entry condition. Substituting out w"(.) in the
equation for Vi, (.) yields

b(r+¢ +6)+m(6)Bx
(r+¢+686+pm®)r+¢) (2.15)
As 1y is linear in x while C(.) is convex, then for a; > a€, the first order
condition for x*(a;, 0):
m(6)p aC(x"; a;)
(r+¢ +6 +pmO)(r+¢) B ox (2.16)

Vy(x,0) =

describes a global maximum. Note further for a; > a® this equation implies

x*(a;, @) is a continuous and strictly increasing function of a; and 8. Also

inserting the expression for w = w¥ (x, 8) into equation (4.8) gives:
r+¢+86)(x—->b)

r+ ¢+ 06+ pm(0) (217)

]F(x' 9) =
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Thus the free entry equation which specifies market tightness is defined by

inserting the wage equation into the Jr and then substitute it out and
rearranging the terms. Thus identifying a market equilibrium reduces to
finding a 6 which solves the equation,

_m(6) 1-p4

k= 0 r+¢+6+pm0) [n(6)x*(a, 6)
+ (1 - (9))x" (ar, 6) (2.18)
— b| (The free entry condition)
where
_ 0 ifa<a‘(P)<a,
m(6) = moif a(8) < ay.

Note that if a(8) > a,, then there are no active labour market participants
and there is no trade.

Claim 3: x*(a, 8) is a continuous and increasing function of 8 and is strictly
increasing in a

Proof. For types a > a® who are active, their optimal investment choice
x*(.) is given by the first order condition:

aVy(x*,8) B aC(x*;a)

d0x dx
Equation(2.16) implies
Wy (x,0) pm(6)

dx  (r+¢+8+pmO))r +¢) (2.19)

vy - . . . . . )
and so a—x” is a continuous, increasing function of 8 . As C(.) is twice

differentiable and strictly convex in x, the implicit function theorem implies

x* is a continuous increasing  function of 6 Also as C,, <0 by
assumption, then x* must strictly increase in ability.

Claim 3 establishes that investment by active workers increases as market
tightness increases, and does so continuously. Furthermore, comparing
workers who are active , higher ability types invest to a strictly
higherproductivity level.
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3. Decentralized Equilibrium

Definition: A market equilibrium is defined as follows:
MEZ1: worker participate in the labor market if and only if a; > a“ where:

b
Vy(x*(a%,0),0) — C(x"(a%,6),a%) = s (3.1)

MEZ2: active participants choose optimal productivity choice x* where:

m(6)p _ac “(a, 6)
(r+¢+68+pm@)r+¢) 0x (x"(a;,0), a;) 3.2)

MES3: free entry condition:

_m(0) 1-8 \

k= ot o+ pmee) FOF @O
+ (1 —n(8))x*(an, 6) — b

ME4: the proportion of active workers who are type i consistent with steady

state turnover; when low-type are active then (6) = n; and when low-type
is inactive t(8) =0

(3.3)

3.1. Existence and characterization

There are three types of possible equilibria. I define

m(0) 1-8 )
0 r+¢+35+pm(6) [7(6)x"(a;, )
+ (1 — n(B))x*(ah, 0) — b]

which describes the expected return to creating a vacancy. ldentifying an
equilibrium requires finding a 8 which solves 2(6) = k. Note that m(0) is a
continuous function of 8 by assumption. The next step is to show that for
a; > a‘, that x*(a;, @) is a continuous and increasing function of 6

Q) =

(3.4)

Claim 4: x*(a;, 8) is a continuous and increasing function of 6 and is strictly
increasing in a;.

Claim 4 establishes that investment by active workers increases as market
tightness increases, and does so continuously. Furthermore, comparing
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workers who are active, higher ability types invest to a strictly higher
productivity level.
Lemmal: As 6 - 0, x*(a;, ) — a;, forall a; > a®, a(0) - b.

6VU(x,9)

Proof. As 6 - 0, equation (2.19) implies =0 . Hence as

00, x*(a,0) - a;, thus by (2.10), V,(x*,6) - ﬁ and (10) implies
a‘(6) = b.

Proposition 2: 3 f s.t6; = f(a;) and is strictly decreasing with 6; with
Bi =0at a; = b.

Proof. Since a“(6;) is a function of single variable and from Proposition 1 it
is strictly decreasing in 8, the Inverse Function Theorem implies there exists
f(a) = [a°]7*(a;) and

do

1
f'(a) = (@ @)~ da < 0]

from Lemma 1 the proof is completed.
It is now straightforward, using Lemma 1 and proposition 2, to identify

Market Equilibrium. Lets define 8; and 6, where

a; =a‘(6;)

ap = ac(6p).
Note that at market tightness 68 = 6;, workers with ability a; are indifferent
between being active in the labor market and not participating. As Proposition
1 establishes that a©(0) is a strictly decreasing function of 8, then these

definitions imply 6, < 6,. This then implies three possible scenarios as
depicted in Figure 2:

(i) If & < 6, then no workers are active in the labour market. With no loss of
generality we suppose 2(.) = 0 in this region; i.e.; the expected return to
creating a vacancy is zero.

(ii) If 6 € (6, 6;) then types i = h are active as a; < a®(0) < a;. As this
implies ©(0) = 0, the expected return to a vacancy is:

m(0) 1-p8
0 r+¢+35 +pm(0)

0 = [x*(ay, 6) — b].
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Note that implies 2(.) is continuous in this range . Its slope is
ambiguous, however, as x*(ay, .) is an increasing function.

(iii) if @ > 6;, then all types are active as a(6) < a;. As this implies
m(0) = n,, the expected return to a vacancy is:

m(6) 1-8 *
6 r+¢d+6+pm(6) [T]lx (a;,0)
+npx"(an, 0) — b].

Of course 2(0)is not continuous in @ at 6,,6,. Clearly £2(.) increases by a
discrete amount at 8, as 2 = 0 for 68 < 8,,. At §;, however, it is easy to see
that 2(.) decreases by a discrete amount. The discontinuity is caused by low
types switching to being active and, by Claim 4, their productivity x*(a;,.) <
x*(ay,.). To be more precise lets have a look at the each regions in details. A
critical step is to note that the nature of equilibrium depends on the continuity
of the right hand side of (22), i.e. 2(0, a;). Clearly as 7(8) is not continuous
at a® = a; for i = [, h then 2(.) is not continuous at that points.

0(0) =

Claim5: 3 6; s.t. L types drop out if 6 < 6,.
Claim 6: 3 6;, s.t. htypes drop out if 6 < 6.
Claim 7: Given the above claims there exist three types of equilibrium:

Region 1: The first is an equilibrium in which it is not beneficial for low/high
ability worker to invest in their productivity since 8 < 6, i.e. a;,a, < a,
which implies 8 = 0 is equilibrium and clearly everyone are inactive in this
case. This is “autarchic equilibria” where workers do not participate to the
labor market and as a result, firms do not post vacancies. The main concern
of this paper is to focus on “non-autarchic” equilibria.

Region 2: The second is the region that 8, < 6 < 6;, which shows that only
high-ability type are active as a; < a® < a,, and accordingly, ©(8) = 0; the
proportion of active low ability workers is zero. Lets show the equilibrium
equations for this case are as follows:

m©) _ 9C(x" (@n, 0 an) 5
(r+¢+68+pm@)r+¢) dx '
b
Vy(x*(a;,0),0) —C(x*(a;,0);a;) < —— (3.6)

r+¢
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b
Vy(x*(ap, 6),0) — C(x"(an, 0); ap) > — (3.7)
I = m(0) 1-p8
0 r+¢+6+pm6)

(x*(ap,0) —b) (3.8)

from the participation constraint for the above region it is clear that it is not
beneficial for low ability type to invest to her/his productivity. One can show
that the LHS of (26) is increasing in market tightness. The low ability type
takes life as leisure and accordingly they will not participate in the
labor market.

Region 3: The third is where 8; < 8 which implies a;, a;, > a®. This region
illustrates a labor market that both types are active and participate in the labor
market as critical ability is lower even from the ability of low ability worker. |
term such a steady state equilibriuma “Joint Type Equilibrium”. This requires:

m(0)p _0C(x"(a, 0);a1) (3.9)
(r+¢+6+pm0)r+¢) 0x '
b
Vy(x*(a;,0) — C(x*(a;, 0); a;) > To (3.10)
_ m(8) 1-p \
= T gt o+ pme M @O+ (3.11)

—np)x"(ap, 6) — b]

N(.) and k are illustrated on the vertical axis and market tightness is shown
on the horizontal axis in Figure 2. The place that the critical ability meets the
ability of high type corresponds to the market tightness in the region 2 and
accordingly , 2(.) = 2(6,a;) . The place that the critical ability meets
the ability of low type corresponds to market tightness in the region 3 with
N() =006, ay). Of course if the critical ability is really high even higher
than the ability of high type then no one participate and region 1 represent that
on the Figure 2.
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Figure 2: The Equilibrium Value of Market Tightness
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Of course, as set above, at the point where 6 = 6, subject to a® = a;, the
gap between the two graphs illustrates those workers that are indifferent being
active or inactive.

In order that this type of Equilibrium occurs, it must be worthwhile for
just high-ability active unemployed to participate in the labor market;

Vy(x*(a;,0),0) — C(x*(a;,0);a;) < % must hold. Similarly, Joint Type
equilibrium requires Vy, (x*(a;, 0) — C(x*(a;, 0); a;) > %. Mixed Strategy

arises because at 8 = 6, there exist some workers with a® = a; who are
indifferent being active or inactive.

3.2. Multiple equilibria

Multiple equilibria, can arise if the £ function is increasing at 8. Lets look at
the active constraint equation at 6 = 9,

b (r+¢+38)b+m@)w(x)
16 I N ro+m@) +0)

Substituting w(x) and rearranging, we have
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< m(0)B(x"(a, 0) — b)
r+d)(m@)+r+6+9¢)

m(8p)B(x"—b)
(r+®)(Bm(Op)+r+5+¢)’
finding x* from the optimal productivity constraint and substituting it in the
above equation we have,

where C = inserting C into the above equation and also

m(6y) — ma’(eh) CyuxC pm(Op) +1r+ 5+ ¢

< (3.12)
0,m’'(6y) (Cy)? r+8+¢
0 5
Em@),0 SMcc ﬁmé gr)j:;i ¢)+ ¢ (3.13)

where &,,(9)0 is the elasticity of matching with respect to the stock
of vacancies and &y ¢ is the elasticity of marginal cost function with
respect to the cost function. Clearly to construct an example lets assume
C(x;a;) = xai’?, then

l—ay—-1m@p)+r+5+¢ -1
a y r+6+¢ -

(3.14)

multiple equilibria i.e. havmg ) > 0, requires the following: If the

elasticity of arrival rate of vacancy to the worker i.e. a is close to one; the
marginal cost of investing in productivity is more elastic with respect to
productivity investment i.e. y and also worker's bargaining power goes to
zero, i.e. § = 0 so that workers appropriate nothing, nearly zero, of the
surplus. It is important to understand, however, that multiple equilibrium do
not occur for all possible parameter configurations.

3.3. Is heterogeneity the cause of multiplicity?

By comparing the equilibrium part in two types case and the first part of the
paper, the immediate question is raised as to whether heterogeneity is the
cause of multiplicity? To answer this question, suppose workers are
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homogenous, in order that multiple equilibria occurs, it must be check that
N(.) isincreasing at 6. That is:

6m'(6) —m(0) (x"(an,6) —b)(1 =)  m(6)
02 pm@) +r+d6+¢ 0

Br+6+¢) m'(0) 1-p8

r+¢ BmO) +1r+ 8+ ¢)3 Cyy >0

where C,, is the second derivative of productivity cost function w.r.t
productivity. As the expression for optimal productivity choice is:

aC(x") _ pm(6)

= 3.15
dx r+¢o)(Bm@)+r+6+¢) (3.15)
Inserting the above expression for C, (x*(e; a)), gives
—om'® +_
m(6) — Om x*—b (BmO) + 7+ 6 + ¢)Cyy <1 (3.16)

7] m'@)(r+ 6+ ¢) Cy

By looking at above equation one can claim that if optimal productivity choice
is close to unemployment benefit b then g—g > 0. Note that x* close to b

contradict the active search constraint, so heterogeneity is not the cause of
multiplicity.

4. Social Planner's Problem

Following Hosios (1990), | solve the social planner problem which determines
the efficient allocation on the above economy. | assume the planner's discount
rate equals to zero. By allowing this assumption | simplify the analysis to
compare steady-state solutions rather than having to determine the discounted
value of the change in some variable along the convergent path from one
solution to another. The Planner chooses {E;, U{,V, x;} to maximise steady
state aggregate net of output minus productivity investment and search cost in
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the economy, where E; is the number of type i employed worker, U is the
number of type i active unemployed workers, V is the number of total
vacancies in the economy and x; refers to the flow output produced by
low/high ability worker.For simplicity the planner problem is:

max P = (Eyx; + [n; — Ei]b)
E;x;,UAV i=Lh

4.2)

— Zi_lh (p[Uf + E;])C(xi; a)) — kV.

Welfare is the sum of output produce by active low/high ability job seekers

net of unemployment benefit to the inactive unemployed workers, minus the

sum of investment productivity costs for both types and the total cost of

posting vacancies in the economy. The planner should maximizes P subject
to the steady sate turnover:

ULA(d) + m(Q)) = 6Ei + d)(UiA + Ei) fOT i = l,h (42)

v . . . . . .
where 6 = AR Since m(0) is the arrival rate of vacancies and ¢ is arrival
l h

rate of new entrants, the flow of low/high ability job seekers out of
unemployment is (m(8) + ¢)U . The corresponding flow into active
unemployment is SE; + ¢(U{ + E;) where E; is the number of low/high
ability employed worker in the labor market. Lets define a control A; = M
where 0 < 4; < 1. A; defines the proportion of type i who are active. Clea;ly
if both types choose A; = 1, then the number of unemployed workers is same
as number of active workers in this economy. Consequently the proportion of
active workers who are low/high ability type is equal to the number of workers
of low/high type . Also if 4; =0 then no one participate in the labor
market ,i.e. E; = —U#* = 0. Using the expression for ; where

E,+Uf
M B+ 1,

Uf + E, Ut + Ey,
—+ £ -
YWE + 1, h U, + Ey,

T =
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which denotes the proportion active agents who are low ability in the
economy , if A; =0 then m; =0 and for the case that A; =1 then
m; =1n; . Given 4; and the steady state turnover constraint (37) then the
planner's problem equation (36) reduces to:!

ik P = _Amm®)
x;,1i,0 i:l,hd) + 1) + m(9) !
\ Z Amam(®) |, (4.3)
i=Lh i ¢+ 6+m(6)
(¢ +6)

) T 918 Ly, 0 Zi:l,hqb[”"ﬂic(xi‘ )],

This is the standard optimization problem solved by the Lagrangian
method. The necessary conditions for optimality are described in Appendix 2.

In the standard matching model, the decentralized allocation is inefficient
unless the so-called Hosios Condition holds.? To highlight the novel
inefficiency, a series of possible optimal productivity investment, labor
market participation and vacancy creation decision externalities are explained
in the next section. Later | assume the planner has three tools to alter the
market outcome.

4.1. Efficiency

4.1.1. Socially efficient labor market tightness

Using the first order conditions presented in the previous part, | solve the
efficient labor market tightness 6.

Proposition 3: The socially efficient labor market tightness is given by:

k = m'(0) el x
m(0) + ¢ + 6 —m'(6)0) Ay + A (4.4)
AN X, — b]
Ay + Ay "

1. The detailed solution of Planner problem is in the Appendix.

2. This Condition states that without a capital choice, the equilibrium is optimal if and only if
the worker's bargaining share is equal to the elasticity of the matching function with respect
to the number of vacancies.
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The Hosios rule sets the worker share of the net surplus equal to the elasticity
of the matching function with respect to unemployment. It can be written

m'(6)6
1-p= ©) .
m(0)
Previously the paper showed that the labor market tightness in the
decentralized case without policy is given by:

B m(6)(1 - p) .
T 0(r+ ¢ + 6+ pm(6)) LOCTD
+ (1 - n(@))x*(ah, 0) — b]

(4.5)

(4.6)

If the Hosios condition holds then, given that participation is efficient then the
decentralized free entry condition will be equal to the planner solution (see
Appendix 2).

Consider those individuals that are indifferent to participate in labor
market, from the participation constraint lets substitute x; — b into above
market and planner free entry conditions then:

(&) .
k= m(en)q—m [tC(x;;a;) + (1 —) C(xp; ap)] Planner solution,
_a-pe . _ . .
k = ——=[nC(x;; a;) + (1 — w)C(xy; ap)|Market solution.

po

Equating the corresponding social planner and market productivity's

investment decision gives mm((z))e =1— [ . Observe that if the worker is

indifferent to participate in the labor market then Hosios Condition will be
satisfied . This result extends Hosios'(1990) results, which showed that
without a capital choice, the equilibrium is optimal if and only if the
worker's bargaining share is equal to the elasticity of the matching
function, however, with endogenous capital investment, this bargaining share
leads to hold up problems, as shown previously. At the root of excessive of
posting vacancies result is the fact that firms create a negative externality
when they enter, since they make it harder for the other firms to find
workers . Simultaneously , they create positive externality on workers
irrespective of their abilities because they increase the probability that workers
find employment . Basically increase entry of low ability workers’
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participation imposes a diseconomy on existing participants and external
economy on firms. Hence, firms create more vacancies, leading to further
vacancy creation and so on. The balance of these forces is ambiguous in
general but depends on the relative share of surplus going to workers and firms
and the optimal productivity investment of the workers according to their
ability and cost of investment.

4.1.2. Socially efficient productivity investment

Using the first order conditions of the planner problem, | can solve the socially
efficient productivity levels x;.

Proposition 4: The socially efficient productivity investment x; is given by:
ac m(0)
ox;  ¢(¢p + 68 +m(8)) (4.7)

Proof. Solving the necessary condition for optimality complete the proof.

I have shown that the solutions for the decentralised case is given by:

m(6)p
(r+¢+06+pm®)r +¢) (4.8)

Observe! that (42) represents the marginal cost of productivity investment
when the planner choose x optimally. Whereas (43) represents marginal cost
of productivity investment when the individual chooses her/his productivity
optimally. The difference between these solution is in parameter g which is
the worker bargaining power. Investment in productivity reveals the hold up
problem. Hold up arise because workers must invest in productivity before
meeting a firm, and firms may reap some of the benefits from larger
investments . Therefore, the corresponding social and private marginal
investment solutions are equal if and only if worker has got full bargaining
power. When individuals make ex ante investments before matching with
firms disregard their ability and also wages are determined by ex post
bargaining, the equilibrium is inefficient.> Wages increase with productivity
investment, creating hold up problem for unemployed active job seekers'
investment, also all the bargaining power is controlled by the workers leading

oc . B
a(xi 0),a;) =

1. As agents optimal expenditure decisions ignore the share to be obtained by their trading
partners, agents's search and recruitment expenditures are inefficient, Mortensen (1982a).
2. This result is related to Acemoglu and Shimer (1999b) findings.
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to very high wage level and excessive entry of workers. Clearly with ex ante
investments , no bargaining solution achieves efficiency . It is often
emphasized that human capital externalities raise output at the aggregate
level, here it is clear that the social solution exceed the market solution unless
the worker's bargaining power is equal to one.

4.1.3 Socially efficient participation level

Using the first order conditions presented in Appendix 1, | can solve the
socially efficient participation level A;.

Proposition 5: From the social point of view, an individual with productivity

x; will participate in the labor market only if x; > b + WC(%) +
kO (¢p+6)
m(o)

The standard search model features a fixed size of the labor force [see, for
instance , Pissarides (2000)] while here | endogeny the labor force
participation. With fixed participation, Hosios (1990) showed that the wage
rule decentralizes the efficient labor market allocation if and only if the
bargaining power of the worker equals the elasticity of the number of
aggregate matches with respect to the number of individuals searching for the
jobs. While the supplies of labor have been endogenous, we are able to
determine whether their incentives for entry are efficient. In this case, we can
determine the parameter A; which shows the proportion of high/low ability
workers who are active that is those who participate in the labor
market . Diamond (1982b) argue that the presence of an additional
worker(firm) makes the entry easier(harder) for vacancies to find workers but
harder(easier) for workers to find jobs. Observe that labor heterogeneity and
cost of investing on productivity make the additional source of inefficiency
from those identified by the matching literature. As | showed before the
participation decision of market solution is given by:

$(p+5+pm(0)) * ‘e
Ifx; > b+ @) C(x;") then participate.
In simple words , given the efficient optimal productivity

investment, efficient labor market participation requires no cost of posting
vacancy which can be concluded from equating the numerator of the last part

planner participation that is k6(9+2)

(o) to zero.
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In the traditional search and matching models we have two traditional
externalities. When firms enter the market, they make it harder for other firms
to find workers, so a negative externality happens (congestion externality), but
since they increase the probability that workers find employment a positive
externality on workers happens (thick market externality)[see Pissarides
(2000)] . These two externalities cancel each other under the Hosios
condition . Notice that in my model | find additional externality called
“composition externality”. It is created by the different types of workers
searching for a job with different productivity investment. Therefore, labor
market is overcrowded with low productivity workers who search for a job
and reduce the probability that high productivity workers match. Clearly these
externalities makes the decentralized solution inefficient.

4.2. Policy implications

The next step is to examine whether policy can improve on the decentralized
allocation. In this case the government can uses different policy instruments. |
study three policy instruments that may allow us to achieve the First Best in
the economy. | assume that the government apply the principle of targeting!
and implement the following policies: training subsidy s for those who invest
on their education, labor market participation tax t and finally a job creation
subsidy z. It is also of interest to know more generally how, these policies
interact with worker bargaining power to affect efficiency.

4.2.1. Optimal training subsidy policy

This paper first introduces the optimal training subsidy and show that how it
interact with worker bargaining power to affect efficiency. Let us introduce e;
which is the difference between the inherent ability a; and the ex-post
productivity x; of the worker, i.e. x; = a; + e;. The productivity investment
cost C(x;; a;) Features the same as

C(a; +e;a;) = Cle;ay)

So, we can simply define

1. The generalization of the principle of targeting is in line with Dixit, Grossman and Helpman
(1996). In their common agency model, more efficient instruments are chosen because the
government cares about social welfare.
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Clxia;) = Cla; + e a;) = Cle; ay).

Introducing the optimal training subsidy per unit of investment s applied
by the government leads to:

pm(0)
(¢ + 6 + pm(9))

Proposition 6: The optimal training subsidy that targets the efficient
productivity investment decision level is given by:

o= 1_ﬁ(¢+8+m(9))
(¢ +6 +pm(6))

Proof. Substituting (4.7) into (4.9) and rearranging the terms, | find the optimal
policy in proposition (5).

COROLLARY. The optimal education subsidy rate is given:
If $ = 1thens* = 0and

_ (1-B)(¢+95)
T p+6+pm(0) > 0.

aC
[1- S]a—ei(ei: a;) = (4.9)

(4.10)

If § < 1thens*

Assuming = 1 then the optimal education subsidy will be equal to zero and
it eliminates the investment decision externality. For the case that worker has
some bargaining power but not the full, then optimal training policy is
positive . It turns out that a higher worker's bargaining power leads to
implement a lower training subsidy in order to restore investment decision
efficiency. One way of achieving productivity investment decision efficiency
is to raise worker bargaining power so that worker appropriate all of the
surplus. This formalizes the notation that efficiency requires a solution to the
holdup problem. Since firms do not share in the cost of ex-ante productivity
investments, this leads to underinvestment.

4.2.2. Participation tax policy

I now turn to a formal analysis of the effects of participation fee(tax) entry
policy. The reason of introducing this policy is to deter the individuals with
low ability to participate in the labor market. Let ¢ be the lump-sum fee entry
regardless of skill, so an active unemployed worker value function with this
policy is given by:
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(r+IWy(x,0) =b —t +m(0)[Ve(x,6) — Vy(x,0)] (4.11)

and when employed,

(T + ¢)VE(-X' 9) = W(x! 9) + 5[VU(x! 9) - VE(X, 9)] (412)

It is simple to show that imposing the participation fee policy the wage
will be

X +8+m@)B) + (b -1+ +0)
wh= r+ ¢ +6 + Bm(9)) (4.13)

and accordingly, the value of being active unemployed worker substituting
(4.13) into (4.11) gives:

b-t)(r+¢+6)+m(6)Bx
(r+¢+06+pm@)r+¢) (4.14)

Proposition 7: Using the optimal productivity investment policy s*, the
optimal labor market tax participation is given by the following condition:

VU (x, 9) =

t* =Pk +——[(p+8) (B —1)

¢ + 5 (4.15)
+s(¢p + 68+ pm(6))C(x; a)]

Proof. Using the decentralized participation constraint and substitution gives,

t(r+ ¢ +6) N (r+¢+86+pm0)r+¢)(1—s")

m(6)B m(6)p

given the optimal training subsidy policy solution, comparing with the social
planner solution, i.e.

kB(¢ + ) 4 ¢(p+6+m(6)
m(0) m(0)
rearranging the terms, | find the solution in proposition (5).

Ifg=1=s"=0 =t" = k0, the first thing to note is that if 8 = 1
(i.e. worker bargaining power is full) s* = 0 as claimed, so that the optimal

>b+

(4.16)

>b+ C(x; ap),
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labor market participation fee will be equal to k8. It is also apparent that if 8
is less than one, the optimal fee policy will be Sk6. The term k6 is commonly
interpreted as the value of saved hiring costs due to the existence of an
additional matched worker, and for the case that £ is less than one we can see
the optimal fee entry is k6 which often interpreted as the capitalised value
built into negotiated wage , shared according the worker's bargaining
power. One might conjecture from this that introducing a lump-sum tax entry
will be ineffective while it would discourage workers to participate in labor
market. It is interesting to know how this type of taxation interact with worker
bargaining power in equilibrium to affect efficiency. It turns out that these two
policies are closely related.!

4.2.3. Job creation subsidy policy

Now suppose that some of the fee entry is redistributed as lump-sum payments
to firms to subsidize the cost of posting a vacancy. Let this subsidy be z . The
value of a vacant job is:,

_ m(6) .
rly(0) =—k+2z+ T[T[UF(xl @-m+Qa
— ) (Jp(x,(6)) — Jy (0)]

Proposition 8: Using the optimal policies s* and t*, the optimal job creation
subsidy z* is given by:,

(Mm@ +¢+6-m'(6)60) 6(r+¢+3+pm®))
(4.17)
x [llmf-ll-zlhnh( L ) Aln);}'ﬁi;nh( h— b)] Bkm(@)l -
Evo+pm©)}

Of course this is the solution of the case that f is strictly between 0 and
1. Clearly, z* is positive as long as the multiplication of the two brackets on

. . . . Bkm(8)(1-p)
the right hand side of equation (52) is greater than B () 1913

1. Bovenberg and Jacobs (2005) consider optimal tax policy where the government taxes labor
income but, as workers also underinvest in education, government offers education subsidies.
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Finally, when worker has full bargaining power the optimal job creation
subsidy is equal to the social planner's cost of creating a vacancy. That is,

m’'(0) ) [ Ay AN ]
z¥ = x;—b)+————(x;,— b)|.
(m(B) +¢d+6-m'(0)0)4n + A, (x ) A+ Ay Cxn )

One might conjecture how introducing participation fee t, job creation
subsidy z and training subsidy s in equilibrium interact with worker
bargaining power to affect efficiency. It turns out that these optimal policies
are closely related. Applying the principle of targeting shows when workers
achieve all the surplus the optimal training subsidy is equal to zero and the
optimal participation tax will be hence k6 . Therefore the optimal job creation
subsidy is positive. If the Hosios condition holds, then given that participation
is efficient then the decentralized, free entry condition will be equal to the
planner solution.

5. Conclusions

Workers and firms face considerable problem contacting each other and of
course these difficulties have consequences on the equilibrium characteristics
of the labor market. This paper studies an equilibrium search model that
highlights the role of inherent ability and productivity investment in the labor
market . The argument is related to the endogenous participation and
investment decision of heterogeneous workers who have an inherent ability
level. When productivity investment is costly and workers are heterogeneous
in ability one can think only the ablest choose to acquire productivity
(education). While here | show the important role of critical ability and cost
of investing on productivity which makes the result different.

Clearly the active constraint plays an important role in the analysis and
makes it possible to examine the interaction between critical ability and
market tightness and also the choice of optimal productivity investment. I
show here those with ability above critical level will participate in the labor
market. The choice of participation involves an opportunity costs in terms
of forgone utility of leisure and direct cost of productivity investment .
I prove that the critical ability decreases in market tightness while optimal
productivity investment increases in market tightness and ability of
the worker.
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Embedding the wage bargaining with free entry condition, optimal
productivity investment and participation decision, | describe equilibrium
characteristics. | show the existence of equilibrium and then extend the model
for two types of workers since it gives a better description of the equilibrium
and probability of existing multiple equilibrium. Equilibrium can take one of
the following forms. One in which it is beneficial for both types of workers to
be active in the labor market, | call it the “Joint Type Equilibrium”, second
one is the one that only there is willingness of high ability workers to invest
in their productivity and finally the last one is the one where there is no benefit
for either types to invest in their productivity and consequently there is no
participation of workers in the labor market and no posting of vacancies from
the firm side.

The paper shows that the market solution is not efficient, since workers
and firms do not internalize the cost of posting a vacancy of the
firms, participation decision and productivity investment of the workers. The
market solution implies that the productivity investment of the worker is lower
than the planner's solution which reveals the holdup problem. It arises because
worker must invest in productivity before meeting a firm and firm reaps some
of the benefits from the worker's investment. The decentralized solution
implies that workers with low productivity will participate in the labor
market, therefore job creation and labor market tightness will not be equal to
social planner case. Therefore, the number of workers with low productivity
in the economy is high and the job creation is low.

Since the market solution is not efficient , optimal policies are
required. Assuming the government observes the worker's eduction, | consider
participation labor market tax policy where the government taxes participant
workers, as workers underinvest in education, it in addition offers education
subsidies. | show that training subsidy for those who decide to participate in
the labor market increases the incentive to invest on productivity. On the other
hand, training subsidy for those who are low ability type will increase
incentive to be active. The introduction of a participation tax will have a
perverse effects; it deters workers incentive to enter to the labor market since
itis a kind of tax(fee) required to be paid as soon as he/she enters labor market.

This effect is more obvious for workers with low ability, it reduces the
incentive for them to participate in the labor market. Of course the income
flow of inactive unemployed workers(unemployment benefit) is an important
determinant of the participation and investment decision. Not surprisingly
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taxes on labor market participation and training subsidy distort human capital
investment and participation decision at different ability levels. But these
distortions are potentially high for those individuals at the participation
margin, whose abilities are close to threshold (critical) level, i.e. who are
indifferent to participate in the labour market. The other additional insight
from the paper is that the planner, using principle of targeting internalizes the
externality by means of the efficient instrument, i.e. the one that aims directly
at the source.

From the arguments of proceeding paper it is clear for the two types case
of workers that the degree of inefficiency of equilibrium turns on the degree
of worker bargaining power, £ . | remark throughout the paper that one way
of achieving efficiency is to raise worker bargaining power so that workers
appropriate all of the surplus.
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Appendices

Appendix 1: Social Planner Problem

Lets assume r = 0, Planner maximises steady state flow payoffs. People die
atrate ¢ = ¢ is entry rate.

Lets define A; the proportion of type i € [,h who are active; i.e.,
A .
—Ui,:EL- Clearly if both types choose 1; = 1 then the number of unemployed

workers is the same as the number of active unemployed workers in this
economy. Consequently the proportion of active workers who are low/high
type is equal to the number of workers of low/high type. Also if A; = 0 then
;= 0.1

The objective function of the social planner is:
max
MNALAn XX ULURYV

=0 —UDx;+Ub + (np — Up)xp, + Upb 1)
— @A C(xp; ar) + npApC(xp; ap)] — kV

subject to three steady state turnovers by the following equations:

(m(6) + p)U{ = 6E; + ¢, 2
o(U; — UH) = ¢pm;(1 - 1) (3)
U;+E; =n; (4)

and also the market tightness condition:

bV
S Up+ U (®)

A
EL+UI_
E;i+U;

Uﬁ+Eh:|.

ni

1. T; =
l Ufl+El

Ej+U;

m h Up+Ep
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The first steady state condition; (2) is that the flow of low/high ability
active unemployed worker out of unemployment equals the flow of low/high
ability unemployed worker back into active unemployment. Since m(6) is the
arrival rate of vacancies and ¢ is arrival rate of new entrants, the flow of
high/low ability unemployed active workers out of unemployment is
(m(0) + )U# . The corresponding flow into active unemployment is
S0E; + ¢n;A;. The second steady state condition is that the flow of inactive
workers out of unemployment equals the flow of inactive workers into
unemployment. There are n high/low ability workers, of whom 1 — 4 are
inactive. So the flow into inactive low/high ability unemployment would be
¢n;(1 — A;). Moreover total number of workers having high/low ability is
which is sum of low/high employed and unemployed workers in third steady
sate condition. Substituting (3) and (4) into (2) gives,

UI.A(¢ + m(@)) = 6Ei + ¢(UiA + Ei) fOT i= l,h (6)

which implies that

i ST (7
m(6)
Lets define
Lo Bt U :
l Ul ®
Substituting (7) into (8) and rearranging in terms of E; gives,
m(6)
E,=An———
A G S+ (o) ®)
Substituting (9) into (1) the planner problem reduces to
lﬂllm(e) Ahnhm(a)
maxP = X + Xn
x;, 44,0 ¢+ 6+m(0) ¢+ 6+m(0)
+ _ Alnlm(g) (10)
=515+ m(o)
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Mh — bro+m@|’” m(’llm) + (An7n)
— o[mAC(x; ap)] — pnpAnC(xp; ap)]

I can rewrite (11) function as:

max P — _Amim®)
xi,li,e i=]’h¢ + 6 + m(@) ¢
An.m(0 11
- [m __Amm® ], ()
i=Lh ¢+ 5+ m(6)

0(¢p + 6) .
) 78 75 Dy, ) = D Bl ACCrs00)

Appendix 2: Optimal Policies

Using the Lagrangian Method I can solve this standard optimization problem
as: This problem satisfies the following first order conditions:

P aC m(0)

ox om pprs+m@) (1)
o, d@+E+m®) Cona - kO($ + 6)

ox m(6) v m(6) @)

=0
aIP) —k m,(e) /11771
30 @m@) + ¢+ —m'©0) m + Ay .
Apnn _
A+ Apnp = b] =0

Rearranging (12)

¢ = (m(6) + PIUL — 8(n;A; — Uf) (4)

0
nidi = (% + 1> uft (5)
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Consider those individuals that are indifferent to participate in labor
market, from the participation constraint lets substitute x; — b into above
market and planner free entry conditions then:

(00
k=@ —m@s v (6)
+ (1 — m)C(xy; ap)] Planner solution
1 —
k= ([),—Qﬁ)d) [C (x5 a;) (7

+ (1 — m)C(xp; ap)Market solution
when the worker is indifferent to participate equality holds then
m'@¢ _(1-p)¢
m(6) —m'(6)6 Bo
then

m’'(0) _1-p
m(@)—m'(9)8  po

dividing both sides by m(6)

!

_m_
m@  1-8
1— m'o ‘ﬁm(e)e
m(0) m’(0)
Rearranging the terms proves that Hosios Condition, i.e.; 1 —f = —mr;((?)e

satisfies.



